l6l. If the 5-digit number 688xYy is divisible by 3, 7
and 11, then what is the value of (5x + 3y)?
Ife 5-3(% arell HE&AT 688xy, 3, 7 3 11 &

298 }W%,ﬂ(5x+3y)ﬂmmﬁ|
R3) J68KRK 99 39 b) 36 c) 43 d) 38
= Yg 2 ?,;f;_C 15+24=34
Q2 £9 3x7XI|= 23
20 79
(9019 b o
8y @ €N

eg;ﬁ;% 6';’8?
N
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162. If the 5-digit number 676xy is
divisible by 3, 7 and 11,then what is

the value of (3x — 5y)'-’\3o'??>/
23] 67gq30'3 Ife 5-37% arell &AT 676xy, 3,7
VRS y 3R 11 ¥ RersT &, @ (3x — 5y)
2149 ®T AT AT
29 a) 10 b) 7
Qo-lool QY-15=9 o d) 11
€93
3%
G N,
A%11=93)

|
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163. If the six-digit number 5z3x4y is
divisible b 7, 11 and 13, then what is the

523 value of (x +y — z)?
2 4 gfe ©: 3% arell HE&AT 5z3x4y 7,
s 11 3k 13 ¥ femew ¥ @
(x4 y — z) &T AT AT I
S+2-Y= _Afa b)5 o3 d)6

100|xabc = ababe

| SSCCGLT1, 23 Aug 2021 Sﬂ 3



[6H. The number 823p2q,is exactly divisible by,7, 11 and 13, What is the value

of (p — q)? [00]
WEAT 823p2q, 7, 11 3K 13 & yuia: fasmsT 8| (p — q) & A A
LR
a8 5 911 d)3
23
P29
8"?):_5




[65. A six-digit number of the form ababab is

0 always divisible by: o '
lo|xab-= , ababab & TT #H Tg-3AH N FEAT
o gH ¥ s @l ¥
- b a) 11111 b) 10001
[0folxab= ¢) 11001 10101
Mo ab | %\7_
0gl d0 ¥
O{E 3232




166. If the number 732xy is divisible by 70,
then find the minimum value of ﬂ.

O afy 732xy T N wE ¥ 70

%Tﬁm?zr%,sﬁxzﬂmr“ AT

oM a)2 1 o0 d)s3
_,\) 7322 ! 2 2
SEAN 20 , 440 !
oY% A
33 i et d
vy =

| SSC CHSL, 31 May 2022 S2 | 6



167. If the 7-digit number x8942y4 is divisible

26U+%
by 56, what is the value of (x% + y) for the
__/—\ L/Iav;gest value of y, wherexa(nd yar2 natural
xXRau264 7X8 numbers?
‘L I x8942y4 wH THY 7 A A wEAT
34 56 @ RwTeT ¥, Ay & W @
AT & AT (22 +y) &1 A F71 8?2
8‘&\4—(2&4-‘&.) STer x 3R y WW%’P
o0 o/ x a) 33 b)a4 455 d) 70
= 650 _‘K_/—’ O®
. O
=1 3‘2
96 Uty

| SSCCGL T1, 11 Apr 2022 S3 | 7



25x1= 125 v/
4B HK =35

|25%x3= QS \/

I25%x S= GZS

125x7 = 875

AT ._XX
D

(62. The six-digit number 537x 5 is

divisible by 125. How many 3Such
six-digit numbers are there?

Og 3% gl &l 537xy5 ,
125 & fasmsw %| R o s

?(3‘3 arel fras TEaTT § 2
|2 & A4 b) 2

. c)3 d)5
375

8
|ssc CHSL T1, 19 Apr 2021 s1|
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1A.If ‘a’ is a natural number, then (7a2 + 7a) is

O+ ) aIways divisible by:
& I 'a’ T GHd FE&A §, @ (7a? + 7a)
Prod.q{ZCw&.lM’S- #ﬁwm#aﬂvﬁaﬂ—q%?

7 and 14 both b) 7 only

c) 14 only d) 21 only
Tx 2
oo

= 1X2=1v

The product of n consecutive natural
numbers is always divisible by n!.




I70. The largest natural number which divides

‘n(ﬂz—'l) (ﬂ,z,) every natural number of the form
(n® —n)(n—2), where n is a natural

number greaterthanZ is
(Y‘")X(m") (n®—n)(n—2), 8T n, 2 & 93T FS
H’FI'CI'U'I‘I'H?% g, & IR qd TdS mm
I AT FIA aTeT JEaA
= () (1) (n+1) Fher @ §2
a)6 b) 12 g(24 d) 48

e = = (=)
Q6= (gb)ash)

The product of n consecutive natural
numbers is always divisible by n!.

CDS 2015, PAPER 2 11




171 If n is whole number greater than 1, then

2 n?
N n-1 )N+l m*>—1)is always divisible by
( )( ) aﬁ: n Tk YT §E&AT 1 ¥ HfOF g, ar

n?(n?—1) 8 W& & g@Nr wig

= (n—:)-‘n-(n-ﬂ)- 7) Ryea &7
= " ' > 4 12 b) 24 c) 48 d) 60
= ¢
@

€
MxISx 16 x\S @-I)X“(HH)
= "

TX \g =0
T @D

N
U

Qg g  OXA=I2




LLL-?UIO UXI10

Cdb =5x10D

o + \Wbt1l| ¢

= M (avb)
= W3 (atb )

172- The sum of 3-digit numbers

—
abc, cab and bcawg not

|V|$|ble\5_\’|o

3-31% drell H'GJTEHT abc cab

3 bca FT ATHA g

0 fasrrsa wid B
a)37” b)3

/ﬁn da+b+c

SSCCGL T1, 24 Aug 2021 Sﬂ 13



Placsy, vedme CZ—&W MJ.'

5451

@%ﬁg

3000

Face Vol (300 #m) !
?sli?n Rrar &T
Sa:u,a)so\/\'caﬁ

3Yg)

S
3




173. If the sum of the digits of a three digit
number is subtracted from that number,

/8 bC B Ca—‘-b_m) then it will always be divisible by
forelt et 3rept Y TEaT F 3EE T F "
T Se ot a7 wda & ad R g 2

QODQ,-HOb-f C—)’ (a“'b*'c) )ﬁ3 only >690nly
oth3and9 }Qall of 3,6 and 9

= 1Ma+9b
= q@mb)




Y. A six-digit number is divisible by 198. If

N J o 7 the digits are rearranged, even then the
number will be divisible by:
a\_b/u(,dﬁjc 2,?,” me“;;‘raﬁral'gq; 98y fasew 81 3%
Seven i qa—éaﬁen-r g ar s
hadfrc 2y }3 e gz) e
atf+4 ¢ Atb4(+d+etf \Rx 1|
O+4d+2 b+,,\+3c‘ = xAx|

>0\.im)—.||‘/

A+c+ <

| | 1
_ CPO 2022 52, 11 Nov 2022 6



\15. A six-digit number is divisible by 198. If

TNV the digits are reversed, even then the
abc de jL 2 A, || numberwill be divisible by:

N~ r F ©F IHH H wEAT 198 ¥ e §1 AR

b+d+j- Pl H 3oe fGar I, ar ff e Faw
S .>0\;&||\/ s gl
A+C+ 2 a) 9 only b) 11 only
R _#/Both9and11 d) 198
N x /S
jedcba 2.9 ) 2xax ||
~ AN / ) J
A+(+e J
2h/
d>_+o\+5>

D | W



\176. Find the value of k in the number 3426k if the
number is divisible by 6 but NOT divisible by 5.
WEAT 3426k H k| &1 A A AT, Ife
TEAT6 ¥ Qo= &, |afFa 5 O Rsa a8 &

ié as A6 M3 M9
i {ud E_x
/ K=
S
6'2"1@?

| SSCCGL T1, 20 Apr 2022 S1 | 18




22 S

%118
C,/ b0

b=24,6, 2 Y
24{arbfF ¢

23445 b
A

|71 Find the greatest number 234a5b, which is
divisible by 22, but NOT divisible by 5.
98 I (TEAT 234a5b AT ST, Y 22
¥ Reea g, afFe 5 & fsrsa a8t 8

-a) 234058, ) 234850
A23465 W 234751
34652
' «
5
\5 O' S
Cuen

| SSCCGLT1, 18 Apr 2022 S1 | 19



178.

L —

Find the greatest number 23@68b, which is

divisible by 3 but NOT divisible by 9.
9% a9 §31 &A1 23a68b A ST,

ST 3 ¥ faursg g dfdT 9 @ Rasy

g 2 ,
a) 238689 4/_232/685 23>
(239688 d) 237687
h

X / x

R A

| SSCCGL T1, 11 Apr 2022 S1 | 20



179. The number 2143251 is divisible by:

&A1 2143251 faFa & @ fraa Qs €7
_/_\ /XU b) 17 ¢)13 //&ﬁa
252
—1v3 0112
|} ©
1,
i

SSC CHSL, 26 May 2022 S2
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